Class 5-6 Loops

Tuesday, February 13, 2024 9:1B AM
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= Please, put cellphones away from your desk
= Feel free to interrupt with a question
= Raise hand to respond to a question

= Practice - problems from Handout 3
» Quiz on Feb 23 - guide and practice are posted
» To prepare - review reading, do practice problems,
work on homework assignment

= Do you have any questions?
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Enter initial investment {$}: 1e@8
Enter years: 3

Minimum rate: 2

Maxcimum rate: 3

Increment rate: .25

Interest Interest
Rate  Earned
2,98 61,21
2,258 69.83
2,588 T6.E9
2,750 84,79
3,882 92,73
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FOR LOOF

for var in sequence-producing-expression: {/\W\ B
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Equivalent to the tollotring:

- the loop budy s ruo for each elems e (assuming 1, e are new variables)
seuuenee in twem, oon s o Lz j
- waris upduled for mach ileraun we st sag - sequence-producing-axpression
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Examples: what vl be printed? while & < len{seq):
war - zeq[i]
7 = T # Loop body
far var 1 range(.,l-d?l." Statement(s}
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Far ch in “bemtler":
print{ch}

for war in [1, 58, €7]:
printiva-, esd = " ")
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RANGE FUNCTION
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»»» listirange(1¢))
[, 1, &, 3, 4, 5, &, 7, #, 4
=3x ldst{rangs(1, 11%)
[1, z, 3, 4, 5, &, 7,8, 9, 18]
weu lislirangs(R, 18, )]
18, 3, 6, 2]
»x» list(range(e, -18, -1))
[8, -1, -2, -3, -4, -5, -6, -7, -8, -9]
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I
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